= A
N = 0 &8 AFH Y & A AN
201908 & =& 3 3 LB AH T A2
2M EHB
HH: 2ARCNB 2Y
H$He wg - 23 FEAMHA WS (e &)
SAH-AH -2 (SA) - HREAY - BES ;] Fat el Iy H HnE2
SAE 886,780 950, 164 A63,384
2 52,804 52,804 0
Al 163,194 161,594 1,600
32 670,782 735,766 A64,984
YT HB 2H 776,593 834,452 A57,859
=2 52,804 52,804 0
Al 163,194 161,594 1,600
2 560,595 620,054 A59,459
mE= 23 - HEMHA M= 776,593 834,452 AB7,859
=2 52,804 52,804 0
Al 163,194 161,594 1,600
= 560,595 620,054 A59,459
nY - NI 2H 45,909 47,113 A1,204
201 22| 44,627 45,763 A1,136
01 At 2t2lH 42,053 43,053 A 1,000
O 3.294¢ 36,700 37,700 A1,000
— B EEH2AAS A 4,000,000 4,000 5,000 A 1,000
03 A2 2,574 2,710 A 136
O 2 99 o=s 2,574 2,710 A136
—HA dxz A 1,264,000 1,264 1,400 ~136
203 YR E XY 1,282 1,350 A68
03 Al ET Y REXH| 1,282 1,350 A68
O TN 1,282 1,350 AB8
e 82 ¥ s 29 137,042 146,331 A9,289
201 LBt 72,427 81,716 A9,289
01 AF2 22| H 24,316 25,676 A 1,360
O 1. Let=22H 24,316 25,676 A 1,360
—Ia2s 24 12,938 13,338 A 400
RFID 3/ ItE 23 3,600,000 3,600 4,000 A 400
—OXNENIA L Maa 29 1,979 2,939 A 960
S BHOIEH|I O] I A 48,000 * 1074 480 1,440 A 960
02 222 48,111 56,040 AT,929
O 3. Al &HI KXY 31,388 39,317 AT,929
—HAA NH |XE2% 13,699 21,628 AT,929
- DBY S 3} Al A &
A 22,000,000 * 12% = 3® / 12" 660 2,640 A1,980
- DBMS 2™ 220,000 * 3 660 2,640 A1,980
-DBE 2 MO AIAE
A 30,352,000 * 10% = 3”& / 12" 759 3,036 N2,277
- © A Z+el KOLAS il
15,046,000 * 15% = 3=” / 12” 565 2,257 A1,692
CAZ HAb 22 87,542 102,688 A15,146




2M EHB
HH: S2EACHS 29
=R S 23 - FE2EAMHA WS (22 &d)
2N -3 -2 (SH) - NHEAMY - BES Ol &F o4 I E M Husz
201 fEt2E | 14,932 20,871 A5,939
01 ArR 22l 5,695 6,285 A 590
O 1. dBt=8Hl 5,695 6,285 A 590
— A ALAEFEE RS2
23 175,000 = 98 1,575 1,925 A 350
— @A 2eHelAMERR 2R+
Z & 120,000 = 98 1,080 1,320 A 240
02 3224l 9,237 14,586 A5,349
O 3. AIEEHIRXHI 7,637 12,986 N5,349
—ANAEHAHA SN2
2 & 13,500 = 290 = 53 1,958 4,307 N2,349
— A =Z 2el Z2& 0 0 3,000 A 3,000
307 21201 A 67,100 76,307 N9,207
05 RIZtRIE =2 67,100 76,307 A9,207
O N2 ¥2ESH d& 6,710,000 = 10& 67,100 76,307 A9,207
CA2 22 29 215,865 235,850 A 19,985
101 @124 H] 63,551 78,051 A 14,500
04 JIAtNZ22XSE* 63,551 78,051 A 14,500
O Ziled H2d Bx ¢ S 2gA2d
ZAY 22X E= 63,551 78,051 A 14,500
—JIg2a3 (=X, EXNELE) 2 & 52,955,000 52,055 67,455 A 14,500
201 et | 54,458 58,429 ~3,971
01 At2 22l bl 47,008 49,539 A 2,531
O 1. dBt=8Hl 19,865 21,967 A2,102
—EAE2UES 7,097 8,137 A1,040
- & M & &HMARC 23 500 * 6,000& 3,000 3,500 A 500
RFID TAG 2 & 500 * 6,500& 3,250 3,750 A 500
“RFID TAG ESAEIH Z&E 40 » 6,500 260 300 A 40
- =4 2g 9,818 10,740 N922
ME2EEANH Z & 350,000 350 432 NB2
RFID 3 &3tE Z & 1,000 = 1,9000H 1,900 2,000 A 100
CBRSE oM E 2=
Z 3 20,000 « 58 100 200 A 100
-OBol SASE Z& 1,800 = 20004 360 720 A 360
ol Ot 82 ¢
Z & 40,000 = 30H 120 400 A 280
—2i2E L2l 590 730 A 140
S0 2 & 70,000 = 304 210 350 A 140
O 6. IX= 2,883 3,312 AN429
— 8= 2 & 1,310,000 1,310 1,512 A 202
—Zd=g0l 2 & 1,573,000 1,573 1,800 N227
02 8324l 7,450 8,890 A 1,440




2M EHB
HH: S2EACHS 29
=R S 23 - FE2EAMHA WS (22 &d)
= HH - (3 H) - HEMY - BdS Ol &F o4 I E M Husz
O1. 2322 2 WA 2,520 3,960 A 1,440
— YA AR0t S HEHAHA
Z & 3,000 = 704 * 128 2,520 3,960 A 1,440
301 LELE A= 950 1,000 A 50
09 AMAHEAS 950 1,000 A 50
O d23H =¥3dz 2 & 950,000 950 1,000 A 50
307 glz2tol & 47,256 48,720 A 1,464
05 RIZtRIEt = 47,256 48,720 A 1,464
O =22 3489 2 & 3,938,000  12& 47,256 48,720 A 1,464
SEHE2EMZ 29 70,307 72,892 N2,585
201 fEt2E | 20,888 23,473 N2,585
01 AFR2t2lHl 20,888 23,473 N2,585
O 1. B8l 5,465 6,013 A 548
— & X & AMARC Z&E 500  2,500& 1,250 1,500 A 250
— RFID TAG Z & 500 * 2,500& 1,250 1,500 A 250
—RFID TAG ES AEI & 40 ~ 2,500& 100 120 A 20
—8E 2 Y Z2& 27,500 = 40H 110 138 A28
O3 =28 14,640 15,240 A 600
— WA A 2 & 4,680,000 4,680 5,280 A 600
O 6. = 783 2,220 A1,437
—Z=Egl Z & 363,000 363 1,800 N 1,437
=37 YAEH2 0l 0 11,250 A11,250
201 ¢er24l 0 11,250 A11,250
01 AF2 22l bl 0 11,250 A11,250
O 6. Xz 0 11,250 A 11,250
—2&AM1D 328 0 0 11,250 A11,250
OtMIet 2 & Z203 2IAMS (B2 AY) 1,600 0 1,600
Al 1,600 0 1,600
201 L Er2A | 1,000 0 1,000
Al 1,000 0 1,000
01 Ar2 22l bl 1,000 0 1,000
O OtMIet2H Z2 1,000 0 1,000
Al 1,000 0 1,000
405 TtabH S| 600 0 600
Al 600 0 600
02 TN 600 0 600
O Ot 2 &AM 600 0 600
Al 600 0 600
HY2HAH(=H2) 110,187 115,712 A5,525
J2ZH(=M2) 110,187 115,712 N5,525




S EM

H: HHE2IAH(ZAHZ)

Eel 23U 2) (Sl & &)
SA-ZH () - HRAY - BES Off &4 JEH Hns2Z
J2dH(=A2) 110,187 115,712 A5,525

201 £B-2d| 59,293 62,692 A 3,399
01 At 22l 12,768 13,983 A1,215
O 1. g8t=2Hl 4,751 5,421 AB70

— ZEl 2 & 930,000 930 1,100 A170
—ZEH EUd Z & 250,000 * 44 1,000 1,500 A 500

O 6. Xz 2,641 3,186 A 545
—Z=Egl 23 1,452,000 1,452 1,800 A 348

— 8= Z2& 1,189,000 1,189 1,386 A197

02 2324gHl 46,525 48,709 A2,184
O1. 3323 % HMA 43,625 45,369 NT1,744
—&IIe3 Z & 2,800,000 = 12& 33,600 35,200 A 1,600

— EAEAIAH”H 2€  FZF 88,000 123 1,056 1,200 A 144

O 4. g - detyl 2,900 3,340 A 440
PE=E N ]| 23 2,200,000 2,200 2,640 A 440

202 04l 46,950 48,720 21,770
01 = LH 4 Hi 46,950 48,720 21,770
O 2 =20l 46,950 48,720 21,770

— LA 2 & 45,270,000 45,270 47,040 21,770

203 ¥R =&l 3,204 3,560 A 356
02 It S =AY 504 560 A56
O FJIMAIE R FAH| Z2 & 504,000 504 560 A 56

04 FN2ELRZ=TH 2,700 3,000 A 300
O TAd2 2 & 2,700,000 2,700 3,000 A 300




